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1.ACIDS, BASES & SALTS

1) The gas being tested by burning in the given figure is :

= =< sdelivery tube

/ memza s cooasce

a) Hydrogen b) Oxygen c¢) Nitrogen d) Chlorine

2) Which of the following is an Acidic Oxide ?
a)Magnesium oxide b) Zinc oxide c¢) Carbon dioxide d) Calcium oxide

3) The products of neutralization reaction are :
a) Salt and Hydrogen b) Salt and Oxygen c¢) Water and oxygen d) Salt and Water

4) Which of the following turns blue litmus into red ?
a) Sodium hydroxide b) Milk of megnisia  ¢) Nitric acid d) Calcium hydroxide

5) Which solution having following pH values has highest hydrogen ion concentration?
a) pH-14 b)pH-9 c) pH-7 d) pH-1

6): Water mixed with Turmeric changes its colour to orange red, when you add :
a) Sodium hydroxide b) Hydrochloric acid ¢) Lemon juice d) Tamarind juice

7) The acid present in the sting of honey bee is :
a) Tartaric acid b) Citric acid ¢) Oxalic acid d) Methanoic acid

8) The pH of P, Q, R, S solutions is 6, 4, 2 and 1 respectively. The strongest acid among
these :
a)P b) Q ¢)R d)S

9) Rahul's grand mother is suffering from acidity. Being a science student, home remedy he
shall give is
a) Lemon juice b) Turmeric c¢) Ginger extract  d) Cooking soda

10) Suma is bitten by a honey-bee. To relieve the pain, she should use this one among the
following
a) Lemon juice b) Tamarind juice c¢) Lime water d) Turmeric

11) pH of acid rain is :
a)7 b)6.5-7.0 c)6 d) less than 5.6

12) Which of the following oxide you should use to neutralise an acid?
a) Carbon dioxide b) Sulphur dioxide c¢) Calcium oxide d) Phosphorus trioxide

13) Which of the following oxide you should use to neutralize a base?




a) Manganese dioxide b) Sulphur dioxide c¢) Calcium oxide d) Magnesium oxide

14) Alkalis are :
a) Bases soluble in water b) Bases insoluble in water
c) Acids soluble in water d) Acids insoluble in water

15) The pH range of our body is :
a)7.0-7.8 b)6.0 - 6.8 €)6.5-7.2 d)8.0 - 8.8

16) correct pair of synthetic indicators amongftilwing is :
a) Turmeric and Phenophthalein b) Turmeric and Methyl orange
c) Phenolphthalein and Methyl oranged) Phenolphthalein and onion

17) When zinc reacts with sodium hydroxide, thedpiais formed are
a) Zinc oxide and hydrogen  b) Sodium zincate and hydrogen
) Zinc oxide and water d) Sodium zincate and water

18) a, b, c and d represents hydrochloric acidiusathydroxide, ammonium hydroxide and
citric acid respectively. The correct increasindesrof their pH value is :
a)a<b<c<d b)d<c<b<a c)b<c<d<a d)a<d<c<b

19) Which of the following is an olfactory indica®
a) turmeric b) litmus paper c) methyl orange d) onion

20) The equation which represents neutralisatiantien is :
a) Mg + 2HCI > MgC} + H, b) HCI + NaOH > NaCl + HO
c) Fe + CuSQ > FeSQ + Cu d) CaO + C® > CaCQ

21) Which of the following solution does not contlatectricity?
a) Hydrochloric acid b) sodium hydroxide c) glucose d)Vinegar
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2. METALS & NON-METALS

1) Lustrous non-metal :
a) Sulphur b) lodine ¢) Phosphorus d) Bromine

2) The metallic oxide which do not form alkali :
a) Na,O b) CaO ¢) K;0 d) CuO

3) Identify the incorrect statement in the given chemical properties of metals.
a) Metallic oxides are basic in nature b) When reacts with water, releases oxygen.
¢) When reacts with acids, releases hydrogen. d)Electro-positive

4) Dilute HCl is taken in a test tube and pieces of copper turnings are added. The changes you may
observe are :

a) Formation of bubbles and temperature rises.

b) Neither formation of bubbles nor rising of temperature.

¢) No formation of bubbles but temperature rises.

d) Formation of bubbles, but the temperature remains the same.

5) With the help of the given chemical equations, what conclusion you take about the nature of
Aluminium oxide ? *

(i) AlLLO, + 2 NaOH - > NaAlO., + H_ O
(i) AL, O, + 6 FC]l ———— 2 A1C1l., + 3 FH_ O

a) Acidic oxide b) Basic oxide = c¢) Amphoteric oxide d) Neutral oxide

6) Strips of zinc, iron, magnesium and copper are taken in the test tubes A,B, C and D respectively.
Same quantity of ferrous sulphate solution is added to these test tubes. Then chemical reaction will
occur in test tube(s) :

a) test tubes A, B and C b) test tube D  c) test tubes B and D d) test tubes A and C

7) Element X loses one electron, element Y gains one electron and forms the compound XY. Which
of the following is the property of the compound:

a) Is a liquid b) Possess low melting point.

c) Soluble in water d) Bad conductor of electricity in its solid state

8) An element reacts with oxygen to give a compound with high melting point. This compound is
also soluble in water. The element is likely to be :
a) Calcium b) Carbon ¢) Silicon d) Iron

9) The atomic numbers of elements A, B, C and D are 3, 8, 9 and 12 respectively. Elements having
metallic nature among these are :

a)Aand B b)Aand D c)Aand C d) B, Cand D

10) Properly showing the formation of NaCl by the transfer of electrons is: *
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11) Observe the steps involved in the extraction of pure metal from ores. The process to be filled in
the empty box :

Sulphide ore 9[ ]9 Reduction —= Purification

a) Electrolysis b) Calcination c) Roasting  d) Oxidation

12) On heating a mixture of Cu,O and Cu,S, we get
a) Cu + SO, b) Cu + SO; ¢) CuO + CuS d) CuSO,

13) Calcination process means :

a) Heating the carbonate ores strongly in limited air.
b) Warming the carbonate ores in excess air.

¢) Heating the suphide ores strongly in limited air.
d) Heating the sulphide ores strongly in excess air.

14) Very reactive metals are obtained by this method :
a) heating with carbon b) heating with aluminium
¢) thermal reduction d) electrolytic reduction

15) Choose the incorrect statements about the given chemical reaction: Fe,Ozc[ 1y + 2Al[ 1) — 2
Fe([) + 2A1203(D) + Heat.

a) Reaction is highly exothermic. b) Al is acting as oxidizing agent.

¢) Fe, O3 is reduced. d)Al is more reactive than Fe.

16) On passing the current through the electrolyte, copper gets deposited here : *
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17) Silver articles become black after some timenvexposed to air. This is due to the formation

of a coating of :
a) Silver oxide b) Silver carbonate c) Silver nitrate d) Silver sulphide

18) Solder is used for welding electrical wiresdttger. Because :
a) less electrical conductivity b) high density
¢) high melting point d) low melting point
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3. LIFE PROCESSES

1) This prevents the backflow of blood in the heart
a) Septa b) Valves c) Arteries

2) This type of heart is found in :
f
a) Frog b) Eagle cFish d) Snake

3) Incorrect statement regarding plant charactesist
a) Slow transport system  b) High energy needs ¢) No movement d) Large proportion of deatls

4) Most important method of transport in plants dunmght time is
a) Translocation b) Opening of Stomatal Pore aengpiration d) effect of root pressure

5) In which of the following are the largest amauaf nitrogen excreted from a mammalian body?
a) Breath b) Sweat ¢) Urine d) Faeces

6) The blood vessel which carries blood for filtrattonkidneys is:
a) Renal Arteries b) Renal Vein ¢) Coronary Artery ) Pdilmonary artery

7) Identify the correct statement about excretionlo€gse by the kidney through urine :
a) Always kidneys excrete glucose

b) Only in case of renal impairment and hypo semmaif insulin, kidneys excrete glucose

c) Generally glucose is excreted through kidneys

d) Sometimes glucose is excreted through kidneys dipgion intake of food

8) Role of stomata in Transportation in Plants:
a) Releasing oxygen b) Absorbing carbon-dioxide C) Creating suction  d) continuous transpiration

9) In the given figure, identify the parts :

a)l-Pulmonary veins 2-superior venacava 3-Aorta 1-Aprta 2-Pulmonary artery 3-Inferior venacava
¢) 1-Pulmonary artery 2-superior venacava 3-Aorta  d) 1-Aorta 2-superior venacava 3-Pulmonary artery

10) The constituent that helps in the clotting laflol
a) Platelets b) White blood cells c) Red bloodscell  d) Plasma




11) The chamber in the heart that pumps deoxygerbed and blood vessel which carries blood
into the lungs are

a) Left atrium b) Right ventricle & Pulmonargin

¢) Right atrium & Vena-cava from upper body d) Rigentricle & Pulmonary artery

12) The transport of soluble products of Photosgsithin Phloem tissue is called :
a) transpiration b) translocation C) respinmatio d) evaporation

13) Correct choice for arteries found in the huroiaculatory system) :
a) These have a thick elastic wall and the bloodi$lunder high pressure.

b) The walls of the veins are thin and blood flawsler low pressure.

¢) The walls of the veins are thin and blood flawsler high pressure.

d) These have a thick elastic wall and the bldoad under low pressure.)

14) The plant roots absorb water from the soiltby process.
a) Diffusion b) Transpiration c) Osmosis d) ixettransport

15) Observe the given figure. The processes that falkes in A, B and C respectively are :

a) selective reabsorption, tubular secretion, glonaeriltration.
b) glomerular filtration, selective reabsorptiambtilar secretion.
c) selective reabsorption, glomerular filtration, tlaswsecretion.
d) tubular secretion, selective reabsorption, glonaeriitration.

16) The correct path urine flow

a) kidney— ureter—» urethra— bladder b) kidney» bladder— urethra— ureter
¢) kidney— ureter— bladder— urethra d) bladder kidney— ureter— urethra

17) This is basic unit of human excretory system
a) nephron b) neuron c) lobule d) Alveoli

18) The body temperature of these animals dependsectethperature in the environment :
a) Frogs & Birds b) Birds & Rabbits  C) Lizards & Humans d) Frogs and Lizards

19) Incorrect statement regarding the functions of 8loo
a) It reqgulates body temperature. IttYrotects body from diseases.
c) It carries waste product called urea from kidteelver. d) It carries hormones from endocriangls.




20) The structures that connect arteries and veins
a) Pulmonary Arteries  b) Pulmonary Veins Gapillaries d)Aorta

21) The blood goes only once through the heatiese during one cycle of passage through the
body :
a) Frog, Lizard b) Whale, Chameleon lgbeo, Salamander  dhark, Hippocampus

22) In this part, soluble nitrogenous waste is filtat fsom the blood :
a) Heart b) Kidneys c) Lungs Unieter

23) The blood leaving the tissues becomes richer in
a) Carbon di oxide b) Glucose H@moglobin d) Oxygen

24) Component of the blood that contains Hemoglabin
a) Red blood corpuscles  b) White blood corpsscl  ¢) Plasma M latelets

25) The given figure indicates:

a) Circulation in Pisces b) Circulation in Amphibg&a  ¢) Circulation in Reptiles @irculation in Mammals
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4. Control and Coordination

1) The gap between two nerve cells
a) dendrites b) synapse C) axon. imglulse

2) The doctors advise a person to take insulimbae injections because
a)His blood pressure goes down bJidart rate slows down
c) he has goiter disease d)His blood glucose level has increased.

3) A person feels snake by looking the rope whiahnone released during this time
a) Adrenaline b)Insulin c)Testosterone d)Thyroxine

4) Which of the following plant hormonesibits plant growth?
a) Auxin b)gibberellin c)cytokinin d)Abic acid

5) Fluid between membranes covering the brainHempreservation of the brain
a) Cortex fluid b)melanin fluid ) cerebrospinal fluid  d) bladder fluid

6) A person who consumes alcohol has lost his Ibadgnce due to alcohol intake , which
part of the brain is not functioning properly
a)The cerebrum b)Talamus c) hypothalamus bedum

7) Breathing is controlled by which part of theibra
a) Cerebrum b) Cerebellum c)hypothalemu d)medulla oblongata

8) In reflex action the reflex arc is formed by
a) Effector- spinal cord —receptor b) Brain spphrord -muscles
c)Receptors -spinal cord- effectors d)Muscles s -brain.

9) If the roots of a plant growing towards nitratcentrated region of the soil it is,
a) photo tropism  b) thigomotrophism  ¢) hydopism d) chemotrophism.

10) identify which of the following statements alb¢hyroxin is incorrect?
a) thyroid gland requires iodine to synthesisedkine

b) thyroxine is also called thyroid hormone

c) it regulates proteins carbohydrates and faab@dism in the body.

d) its secrets from parathyroid gland.

11) This act as a station h bridge between forataad hindbrain
a) medulla b) pons c) midbrain Cayebrum




12) The element which is responsible for the semeif thyroxine hormone from thyroid
gland.
a) iron. b) calcium c) bromine iakline

13) The main functions of the brain are
a)Thinking  b)controls the heart rate c)Bakof the body d)All of the above

14) Which one is the master gland
a) adrenal b) thyroid C) pitutory. d) parathyroid

15) Emergency hormone that acts on target orgaakiding the heart
a) insulin. b) thyroxine c)adrenaline d) testosterone

16) The pathway through which the nerves pass &tmulus to response is called
a) reflex action b) reflex ac§ photo tropism d) hydrotropism

17) Plants use the following method to transmibinfation from one
cell to another.

a) With the help of neurons b) the braandc

C) the electrochemical system d)conductive tissue

18) A girl has a beard on her face because thimtioe is often found in the girl
a) testosterone b) estrogen C) progesterone) grodth hormone

19) The plant Mimosa shows
a) phototropism b) hydrotropism C)gepism d) seismonastic

20) Giantness and dwarfism can cause an unbalaeceetion of this gland,
a) adrenaline b) pituitary c)The pancreatic  d)Birth glands.
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5. Electricity

1. The Sl unit of electric charge is
a) Ohm b) Ampere &oulomb d) Ammeter

2. The amount of electric charge passed througkltetric bulb filament when 0.3 A of
electric current flows through it for 15 minutes
a) 2700 C b) 270 C c) 300 C d) 8100 C

3. 1volt = -
a) 1J/C b).1JC c) 1C/J d) 0.1 J/C

4. 48 J of work is done when 3C of electric chdlges through a conductor. Then the
voltage between the two ends of a conductor is
a) 144V b) 1/16 V cl6 VvV d)51V

5. According to Ohm's law,
a)R=V/i b) V=RI c)I=VIR d) all of these

6. The Sl unit of resistivity is
a) Ohm b) Coulomb &hm meter d) Joule

7. The range of resistivity of metals which aredias conductors is
a) 10%- 10" ohm meter b) T0 10 ohm meter
c) 10° - 10° ohm meter d) 10° - 10% ohm meter

8. The amount of electric current drawn by thi bilament with the resistance of 1400
ohms when it is connected to a source of 200 v is
a) 0.7 Ampere bl/7 A C)7A d) 70 A

9. The resistance of a conductor depends on
a) Length of a conductor b) Area of cross sectif a conductor
c) Nature of a material of a conductor Atl)the above

10. The device manufactured based on the prinoiglehe heating effect of electric
current” is
a) Electric heater  b) Electric iron box  c)HEtec stove dAll the above

11. According to Joule's law of heating
a)H=I°RT b) R=fH/T c) H=\VA/RT d)H=IR T

12. 80 J of heat energy is produced each secontielresistor of 5 ohms resistance. Then
the voltage between the two ends of a resistor is
a) 400 V b) 16 V c20V d4av

13. The device used to measure the rate electnerdun a circuit is
a) Voltmeter bAmmeter c) Galvanometer  d) Rheostat




14. The commercial unit of electric power is
a) Unit b) Joule cYVatt d) Volt

15. " At constant temperature, the voltage inlantac circuit is directly proportional to
the electric current flowing through it."- Thisaalled
a) Joule's law b) Ohm's law c) Fleming's law  d) Faraday 's law

16. 1 volt X 1Ampere =
a) 1 ohm b) 1 Watt dJoule d) 1ohm meter

17. The value of 1kilowatt hour is
a)3.6 X163 b) 36 X 16J )3.6 X 10°J d) 36 X 10°J

18. The metal used to manufacture the electric bialiment is
a) iron b) Aluminium c) Platinum dungsten

19. The formula used to find the rate of electrorent in a circuit in which resistors are
connected in series is
a)I=V/Rs b) =V XRs c)I=VXRp d)I=VX1/Rp

20. The three resistors R1=5 ohms, R2 = 10sodimal R3 = 30 ohms are connected in
parallel. Then the total resistance in that circit
a) 30 ohm c) 0.33 ohm 49 ohm
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MAGNETIC EFFECT OF ELECTRIC CURRENT

1. Which of the following correctly describes thagnetic field near a long straight wire?
a) The field consists of straight line perpendictitethe wire

b) The field consists of straight lines parallethie wire

c) The field consists of radial lines originallpm wire

d) The field consists of concentric circles centwadhe wire

2. The phenomenon of electromagnetic induction is

a) The process of charging a body

b) The process of generating magnetic field duwee¢arrent passing through a coil

¢) Producing induced current in a coil due to reéainotion between a magnet and the coil
d) The process of rotating a coil of an electridaono

3. The device used for producing electric currertalled a
a) Generator b) galvanometer c) ammeter d) motor

4. The essential difference between an AC geneasiDC generator is that

a) AC generator has an electromagnet while a D@rmg¢or has permanent magnet
b) DC generator will generate a high voltage

c) AC generator will generate a high voltage

d) AC generator has slip rings while the DC germrads a commulator.

5. at the time of short circuit, the current in teuit
a) Reduces substantially  b) does not change ncc@dse heavily d) vary continuously

6. State the true answer in the following

a) An electric motor converts mechanical energy electric energy

b) An electric generator works on the principlestdctromagnetic induction

c) The field at the center of a long circular aalrying current will be straight line
d) A wire with a green insulation is usually theeliwire of an electric supply

7. Who stated the right hand thumb rule
a) Orsted b) Flemming c) Einstein d) Maxwell

8. In all the electrical appliances the switchesgrt in the
a) Live wire b) earth wire c) neutral wire d) el above

9. What is the condition of an electromagnetic ttchn?

a) There must be a relative motion between theatailire and galvanometer
b) There must be a relative motion between galvatenand a magnet

c) There must be a relative motion between galvatenand a generator




d) There must be a relative motion between thleo€wvire and magnet

10. No force acts on a current carrying conductoemit is placed
a) Perpendicular to the magnetic field b) patat the magnetic field
c) Far away from the magnetic field d) insidmagnetic field

11. What is that instrument which can detect tles@nce of electric current in a circuit?
a) Galvanometer b) motor C) generator d) ndritkepabove

12. Which device produces the electric current?
a) Generator b) galvanometer = ¢) ammeter d)moto

13. An alpha particle is diverted towards westafletted towards north by a field, the field
IS magnetic
What will be the direction of the field?
a) Towards south b) towards east c) downward updjard

14. The magnetic field is strongest at
a) Middle of the magnet  b) north pole C) squle d) both poles

15. An electric generator actually acts as
a) A source of electric charge b) a source at keergy
c) An electromagnet d) a converter of energy

16. The direction of force on a current carryingduactor in a magnetic field is given by
a) Fleming’s left hand rule c) Fleming’s rigtrtd rule
c¢) Right hand thumb rule d) Left hand thumlerul

17. The direction of induced current is given by
a) Fleming’s right hand rule b) Fleming’s leftnobrule
c¢) Right hand thumb rule d) Left hand thumkerul

18. the most important safety method used to ptiogbome appliances from short circuit
or overloading
a) Earthling b) use of stabilizer C) usduse d) use of electric motor

19. The split rings present in the DC electric madaised to
a) Rotate motor b) Change the directibouorent in the coil
c) Keeps direction of current in the coil d) Both b and c

20. The magnetic field lines inside a long curm@tying solenoid is
a) Circular b) parabolic c) elliptical d) strhig
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7. OUR ENVIRONMENT

1. These include the ecosystem
a) Living things b) Lifeless objects
c) Living and inanimate d) None of the above

2. The ozone layer is damaged by the following
a) Carbon b) Methane C) Pedtici d) Chiloro fluoro carbon

3. Gardens and herds are ecosystems.
a) Be natural.  b) Natural c) Man-maded) Divine Made

4. The first stage organisms in the nourishmentalled :
a) Manufacturers  b) Catechins C) lactifeeders d) Tertiary eaters

5. Correct statement of biological degradation mmaie These things

a) The environment stays inert for a long time

b) Many ecosystems are harmed.

c) Increasing concentrations of harmful chemicaldifferent nutritional layers.
d) The environment is naturally recycled.

6. These are things that slowly change their appea and structure in the
environment

a) leaves b) used Vegetable shavings

c) Waste papers d) The fibres of plants

7. Energy flow in the ecosystem is always
a) one-sided b) two-sided c) random d) multi-faceted

8. Which of the following controls the number aftnents in the food chain?
a) Decrease in energy availability for high-endifes.

b) Lack of food availability

c) Air pollution

d) Fight for food

9. Which of the following is not biodegradable veas
a) dung b) fertilizer c) plastic




10. Consider the food chain below: Grass Grasshopper~ Frog — Snake—
Eagle
If the energy available to the nourishmer&dso J5000 Jthe amount of energy

available to the snake
a) 500 J b)5J c) 0.5J d) 50 J

11. If the organism in the fourth nourishmentleg food chain has the power of,, the

productive plant may have
a) 5kJ b) 50kJ c) 500kJ d) 5000kJ

12. Which of the following can form a food chain?
a) Grass, Wheat and Mango b) Grass, @&whHuman
c) goat, cow and elephant d) grbsis,and goat

13. Percentage of solar radiation absorbed bylatits during the photosynthesis
process
a) 1% b) 10% c) 15% d) 25%

14. The refrigerator is now free from
a) Chlorine b) Bleaching CFC d) Methane

15. Which of the following is a non-biodegradafbaterial?
a) Tobacco b) Animal waste Ngjon d) Plant waste

16. Organisms in the first stage of nutrition
a) producers b) primary eaters  sexjpndary eaters d) tertiary eaters
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8.Carbon and its compounds

1.The first member of hydrocarbon family containing double bond.

a.methene b. ethane. c.ethene d.ethyne.

2. Lonic compounds.
a. Low melting point. b. Low boiling point.

c. They conduct electricity in molten state. d. Conduct electricity in solid state.

3. Minimum number of of carbon atoms must be present in hydrocarbons to exhibit isomerism is

a.2 b.3 c.l d.4

4. The bonds present in nitrogen, hydrogen and oxygen molecules respectively are

a.Triple bond, Single bond ,Double bond. b. Triple bond, double, bond single bond.

c. Double bond triple bond single bond. d. Double bond, single bond, triple bond.

5. The major component of biogas and compressed natural gas is

a. methane b. butane c. benzene d.ethane.

6. Tetravalent element among the following is

a. Nitrogen b.Oxygen. c. Carbon d. Hydrogen.

7.Covalent compounds having
a. High melting point. b. high boiling point.

c. poor conductor of electricity. d. good conductor of electricity.

8.Name of this compound is CH30H

a. Methanol b. ethanol. c. ethanal. d. ethanoic acid.

9. In carbon compounds if there is a single bond between two successive carbon atoms such compounds are
called
a.Homologous series b. unsaturated hydrocarbon.

c.structural isomers d.saturated hydrocarbon.

10. This property of carbon makes the long chain, branched chain and ring structure possible

a.lsomerism b. catenation c. having ionic bond d. Poor conductor of electricity.




11. the bond that Carbon forms with most other elements are very strong because
a. Carbon forms ionic bond with other elements. b. large size of Carbon atom.

c. small size of Carbon atom. d. Carbon forms covalent bond with other elements.

12.The number of carbon and hydrogen atoms in the ethane molecule is
a. Carbon 6 hydrogen 4. b. Carbon 2 hydrogen 4.

c. Carbon 1 hydrogen 4. d. Carbon 2 hydrogen 6.

13. The functional group in propanone is

a. Ketone b. Aldehyde c. Alcohol d. Carboxylic acid.
14. Name of the compound C6H6 is

a. Hexane b. cyclohexane c. hexyne d.benzene

15. Molecular formula of a compound is C6 H12 the formula of the next member of this series is

a.C4H10 b.C6H6 c.C6H14 d.C7H14.

16. Hydrocarbon means

a. Compounds containing only carbon and hydrogen.

b. Compounds containing only carbon and oxygen.
c. Compounds containing carbon hydrogen and oxygen.
d. Compounds containing only carbon.

17.The correct homologous series in this is

a.C2H4, C3H6, C4H6. b.CH4, C2H4, C3H6, C4H8.
c.CH4, C2H6, C3H8, C4H10. d.C2H2, C3H4, C4H7.

18. Detergents are best cleansing agents than soaps in hard water because
a.The price of detergents is low.
b.Do not form in soluble precipitates with the calcium or magnesium ions in hard water.

c. Form insoluble precipitates with the calcium or magnesium ions in hard water.

d. Detergents do not form lather in hard water.

19. The process of unsaturated hydrocarbons combines with hydrogen in the presence catalyst such as
palladium or nickel to give saturated hydrocarbon is

a.Addition reaction b.substitution reaction c.oxidation d.reduction

20. Match the following

1. alcohol a) COOH

2. aldehyde. b) OH




3. ketone. c) CHO

4. carboxylic acid d) co

1-OH 2-CHO 3-CO 4-COOH
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O- Periodic Classification of Elements

1) Ametal ‘M’ is in the 13th group of the Periodiable. Its oxide formula and valency are :
(a) MO, 2 (b) MO, 2 (€)MOs, 3 (d) M50, 3

2) Consider the elementsgCa, g0, 18Ar, 165, 4Be, 2He which of the above elements would you
expect to be in group 16 of the Periodic Table?
(@)20Ca &16S (b) 20Ca & gO (c) 18Ar & 16S (d) 80 & 165

3) In the modern periodic table, which elementamepletely filled with electrons?
a) Be , He, Ne b) He, Ar, K c) He, Ne, Ar d) Ha, Ar

4) In the modern periodic table, which elementammpletely filled with electrons?
a) Cl b) B c)S d) O

5) In the modern periodic table , Eka aluminium p&ated in the grou
a) 2 b) 3 c) 13 d) 14

6) In the given table, Formula of the compound fedrbetween B and D is

2 15 | 16 17

B C

D £

F H 1

a) BD b) BD c) BD, d) DB

7) The element that has electrons twice as maryretes in its second shell as in its first shell
a) carbon b) beryllium c) boron d) nitrogen

8) The element with three shells, having four etats in its valence shell is
a) Carbon b) Silicon c) Sulphur d) Phosphorus

9) The element with two shells, loses three elastfoom its valence shell is
a) carbon b) boron c) beryllium d) Aluminium

10) In the above table, most non-metallic elemgnt i

b) C 0l d)F

11) In the above table , most metallic element is

1 2 is 16 i7
A B C
D

F
a)A b) C o)1 d) F

12) Maximum number of elements found in the secmdithird periods are
a)2 &8 b) 8 & 18 c)8&8 d) 18 & 18




13) (A+C)/2 = B can be related to the law
a) Mendeléev’s periodic law b) Débereiner’s lavirmds
¢) Newlands’ Law of Octaves d) Modern periodiw la

14) In Newlands’ periodic table the elements kephe same slot are
a) Co & Ni b) Cu & Ni c) Ni & Ce d) Co &IC

15) Which of the following is the correct increagiorder of the atomic radii of the elements
oxygen, fluorine and nitrogen?
ayN>0>F b)N<F<O c)O<N<F d) F<<

16) Correct arrangement of the elements accordimgctreasing order of their nuclear charge is
a)Li>Be>B>C>N>0>F b)Li<B<Be<CN<O<F
c)Li>B>Be>C>0>N>F d)Li<Be<B<CN<O<F

17) 11. Identify the element that has the tendeadgse the electrons most easily.
a) Ca b) Na c) K d) Mg

18) A, B, C,D, E are the elements belongs to gb@pl3, 14, 16 respectively. Most electronegative
element in the group is
a) A b) D c)B d) E

19) In the second period the most metallic elemetit reason is
a) Be - as it has more protons b) Li - it is wéhst nuclear charge
c) F- as it is most electro negative d) Ne — &sé completely filled

20. The elements A, B and C belong to group 2,416 respectively, of the periodic table. Which

of the elements will form covalent bonds?
a)Aand B b) B and C c)CandA dA
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(@)20Ca &16S (b) 20Ca & O (c) 18Ar & 165 (d) g0 & 16S
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b) C o)1 d)F

12) 0@ DB SeTRe BTBEMPO 0BV FoRNY N0, 50&5’ES eDHZDTN,
a)2&8 b) 8 & 18 c)8&8 d) 18 & 18

13) (A+C)/2 = BiedEa), 8 Aabahd, FoodTua.
a) oBOS I BS8I3ES éfaeo—’%s N[OV b) Cifae&)dédd,dd 3PN NP
C) msméo% e} eﬂa’i BN AT d) 8RB 33363 LR

14) masméocsz O 33363 30w 3T 2,003¢ m@ddeg ROTIB FoRNY 0BT,
a) Co & Ni b) Cu & Ni c) Ni & Ce d) Co & Cr

15) & SYNRIRVE 532, FeednF D) =,tdpea v Soarm 336 908 ST SOwrT

Leeqe
a)N>0>F b)N<F<O )O<N<F d) F <\

16) S dead 5330 HOBZ0d FTHTO Fo@NTRY, eBAT FOWraT sl

a)Li>Be>B>C>N>0>F b)Li<B<Be<{N<O<F
c)Li>B>Be>C>0>N>F d)Li<Be<B<N<O<F

17) @Rnvdd ©z03 Durdoen @6%5‘ Y BYDBERRYS B30y, ZoRS0TT,
a) Ca b) Na c) K d) Mg

18) A, B, C,D, Epe@inisd gjabaen 1,2,13, 14, 163e rhonent Jed. @l n¥e) od o)

of)dazsde)sﬁeoja PRI 0TT,
a)A b) D c)B d) E

19) 20BIod B8TBETOHT Ted), elpededd o) DI) BB, FoTET 0BT,
a) Be -®ed), Bpet3od YRy @eodd b) Li -8e <o,dead ese3eBSD), BT .
¢) F- @b @d), @y B)edead rhes @ odds d) Ne-@pearayen 20T B3WaY T 0T

20. 8333 3pexza A, B @) C 5odinsd gabameN 2, 1423) 16 Se rhoynert Jedds.

QINTY SpIeeI) eod FoMIMPRY BVoLD BJITE PoRNFoTT,
a)Aand B b)Band C c)CandA dA




10-HOW DO ORGANISMS REPRODUCE

1) Reproduction is essential for living organism®ider to
(a) keep the individual organism alive (b) futfikeir energy requirement
(c) maintain growth (d) continue tdpecies generation after generation

2) Offspring formed as a result of sexual repromucexhibit more variations because
(a) sexual reproduction is a lengthy process

(b) genetic material comes from two parents ofstlime species

(c) genetic material comes from two parents okdéht species

(d) genetic material comes from many parents

3) The process of cell division by which sexua#producing organisms reduce the number of
chromosomes to half in reproductive cells comp&oetbn-reproductive body cells is
(a) Mitosis (b) Meiosis (c) Binary fission (d) Multipléskion

4) Characters transmitted from parents to offsparegpresent in
a) cytoplasm b) ribosome c) golgi bodies d) gene

5) Which of the following, the characters that seansmitted from parents to offspring during
reproduction show?

a) only similarities with parents b) only vaitats with parents

¢) both similarities and variations with parents. d) neither similarities nor vaidat

6) The number of chromosomes in parents and oiffigpiof a particular species remains constant
due to

a) doubling the number of chromosomes after zyfyotaation

b) halving the number of chromosomes during gariogteation

¢) doubling of chromosomes after gamete formation

d) halving of chromosomes after gamete formation

7) Length of pollen tube depends on the distantwdsn/
a) pollen grain and upper surface of stigma b) pollen grain on upper surface ofrstigand ovule
c) pollen grain in anther and upper surface ohséig d) lower part of style and upper surfacetighsa

8) Which of the following statements are true fomfers? (i) Flowers are always bisex(gl They
are the sexual reproductive orgii$ They are produced in all groups of plagitg After
fertilisation they give rise to fruits

a) (i) and (iv) b) (ii) and (iii) ¢) (i) andii (d)_(ii) and (iv)

9) Which among the following statements are trueufusexual flowers? (i) They possess both
stamen and pist{ii) They possess either stamen or pigiiil They exhibit cross pollinatioiv)
Unisexual flowers possessing only stamens canmaluge fruits

a) (i) and (iv) b) (ii), (iii) and (iv) ¢) (iiand (iv) d) (i), (iii) and (iv)

10) Which among the following statements are tareséxual reproduction in flowering plants? (i)
It requires two types of gamet@s Fertilization is a compulsory evertii) It always results in
formation of zygote(iv) Offspring formed are clones

a) (i) and (iv) b) (i), (ii) and} c) (i), (i) and (i) d)i), (iii) and (iv)

11) In this Figure, the parts A, B and C are setjaiyn




a) cotyledon, plumule and radicle b) plumule, radicle and cotyledon
c¢) plumule, cotyledon and radicle d) radicle, cotyledon and plumule

12) Anthers contain
a) Sepals b) Ovules c) Pistil d) Pollen ggain

13) Which of the following is the correct sequentevents of sexual reproduction in a flower?
(a) pollination, fertilisation, seedling, embryo dBedling, embryo, fertilisation, pollination
(c) pollination, fertilisation, embryo, seedling @nbryo, seedling, pollination, fertilisation

14) In human females, an event that reflects oofsetproductive phase is
a) growth of body b) changes in hair pattern @ngfe in voice d) menstruation

15) Which among the following is not the functidntestes at puberty? (i) formation of germ cells
(ii) secretion of testosterone (iii) developmehplacenta (iv) secretion of estrogen
a) (i) and (ii) b) (ii) and (iii) c) (iii) andiv) d) (i) and (iv)

16) The correct sequence of organs in the mal@deitive system for transport of sperms is
a) testis --> vasdeferens -->urethra b) testis --> ureter --> urethra
c) testis --> urethra --> ureter d) testis -asdeferens --> ureter

17) The part of the reproductive system of mammailsre fertilization occurs
a) Ovries b) Uterus ¢ )Vagina d) Ovi duct/fallxptube

18) In mammals the reason for their location owtsfee body in scrotal sac is,
a) Presence of lengthy small intestine

b) Presence of urinary bladder

c¢) Lengthy Vas-deferens

d) They require temperature less than body temper&br the production of sperms

19) Which of the following is not a part of the fal®m reproductive system in human beings?
a) Ovary b) Uterus ¢) Vas deferens d) Oviducts
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11. Heredity and Evolution

1. Which plant was Mendel chosen for his experifen
A. Bee. B. Toad C. Chpga DBean

2. Who was the first member of the human species?
A. Homo African BHomo sapiens C. Homo Russian D. Homo is Asian

3. The genetic quality that provides diversityheiit any compromises:
A. Drift B. Choice of Nature C. Garset D. Strongness

4. Proponent of life evolution theory:
A. Mendel B. Haldane C. Stansley Darwin

5. Factor that does not lead to the emergencenefvaspecies
A) selection of nature B) change in the number of chromosomes
C) Genetic flow D) Reproductiamong geographically separated subgroups

6. This is an example of a pair that fits welltwitinctional organs.
A) the wing of a bird and the hands of human beings

B) the wing of Bat and Butterfly

C) Whale Swimming and Horse Forecasting

D) All the above

7. Plants of the first generation F1 in Mendeypothesis experiment
A) Height and Height Ratios of 1 : 4 B) Short and Height Ratios of 2 : 4
C) All the plants were tall. D) All the plants were short

8. The pure pea plant, which produces strong rgetidw seeds, is mixed with the pure
pea plant that produces the weakest succulent-gessds. The number of plants with
rounded green seeds in this F1 generation of M&nebgberiment

Al O B] 1 1€ D] 6

9. Note the following table showing the differéotms of pea plants:

Seed color flower position
Green (G) Leaf (A)
Yellow (g) Stem end (a)

The green seed and the flowers on the stem enddicative of the breed
Al gGAa B] GgAa C] GgAA D]Ggaa

10. One example of structural organs is parroggjimnother




A) the whale swimsuit B) the horse's foreéng
C) the frog's forefinger @Dhe wing of eagle

11. An example of the homologous organs
A) our arm and forefinger of the dog d) teeth and the tusks of the elephant
C) potatoes and grass subcultures ) allf the above

12. Which of the following is most of us wearingpiabased perspective?
A) a Chinese school BOY B) a chimpanjee C) a spider D) a bacterium

13. Mendler's experiment In one experiment, whaeering dwarf plants were taken with
tall plants of purple flower. All the offspring deed from these have purple flowers. But
half are dwarf. From this we can specify the heghnt species.

A) TTWW B) TTww C)Ttww D) TtWw

14. Number of pairs of sex glands in the human pai
A) 22 B) 3 C) 23 D2

15. This F2 generation gene model is the ratioomhogenization
A) 1:2:1 B)3:1 C) 2:1:1 YOL:3




11. D B03e0D3 DA BeSIZR

1. DHoBSD B, B0deensy,N 8O0IBR0T I adreFadh?
. WEI0Ed Q. 3end Q. 3BYJ 8. DY

. BB FIedB Spdw ITT; aredh?
. Deedpe 8B D). Teedee Jedob, Q. meeSee S 8. meedne dFR’

. a0y Te BLowIEIBNRVT 3 IFBoDRY, 2N bTodeod res:
.3 8 Q. AJNET esad), Q. BV 8. o3

. BB ATV AWR0BT B 3weTB:

. Zhoder D, Totess

5. BRI BRIETHP0TT HUNSB, SoTEIDNE o3
Q) AT e3ad), Q) SesrBoriy Joadabe) wBweSE

Q) S0BDedNY BOIJ) 8) 2PrinedsmeN &3 3T L3 MVBIZNRINY SWS Sozodee3 3

6. BoaairFabTRd GONHOR B0 RO Bl W HVTIBOBATING.
o) BNV B3, DR AR By 2) weddab B8, D BeIrv SF,
2) BhoNoT BrTE, g HRTab Fworeen 8) ovzp B

7. Do BTV ©33VeE0H Bleeridd) FTuRe Seriodd BoRTT TR
9)2:1 0 030 bR NG oDTIBAFDH D) 1:2 8 NG DR O30 BRTIIIOGI)

2) o9 BIAW SBCTNG) 8) oy IIMW NGTNGD)

8. @0 MEsed BoBNS BYO Dewrivx) svE9 DD D weIoed ITBY, DFOL MHEDIT B, T-
BAD DeBRYRY BUT DD W weFoed IJTeoLT FoBTriePIT. SHoBdwT Bodeend F1 dedriohd
o8NS BID DedNYRY, BeodDLS IJNY Josd,

Q] o D] 1 Q] 3 Ble

9. WeIE3 IZNY DT, TSNV, SeedDS YN Bpegd™ M -

e2dB 2063 BRI m@d
D (G) Q3D oY (A)




) 52033 R0 (a)
BAT) Veed D) 50063 DOWY BAMYR) FoBDS I 6T REST0TT

o] gGAa ] GgAa Q] GgAA 8] Ggaa

10. TdRordTed @onnert 2otd eVwedds NP 338,MW, DIRowd
9) 3DoNT BT3B, ) BDDTD Sworteen Q) 333 0d Sworreen

1. [3BRS onnert evmemds ayexl)l3ord
Q) FD, Bee B Todhab Bwortee ) S, BN D) 8F0d BoBRW
Q) BLRNE D) WO GLBE0TBNRW 8) 8 edT avFp

12. 8 3YNIYINYY ReBITTT B Bees3Dor ISt Bed), F00PHIDIHD
D) W), 3ex)e TaLJe WS D) 00 3000 Q) w001 Bed B) 20T 2y Bedalre

13. &HoBwT @)0dReNEY Sedv @ VRS OBTB JIJ;Mwe ol DY @ VRS DY SJMYY,
BrchBRY,UeNT. ¥YnPod SHT FoB3 ave FedY BANYRY, TPV, BTV WFEBRY, ByywoNas.

QBO0T TP OBV ITT SVrHEBIY, dert FeedTBaTD.

o) TTWW 2) TTww &) TEWW 8) Ttww

14. 3333 oo, RBODS Oort BeseBoBNY WeeBny Kosd,

Q) 22 Q) 3 ) 23

15. OB3LeBTNT F2 Iedriad 2ex® IR 9Dz
?3) 3:1




12. LIGHT REFRACTION

1.The absolute refractive index of a water is 1138 speed of a light in water will be
a)133000km/s b)226000km/s  ¢)133@B0 d)226000m/s

2.The absolute refractive indices of glass, wal@mond and kerosene are 1.5, 1.33, 2.42 and 1.44

respectively. The medium with greater optical dignisi
a)Water b)kerosene c)diamond d)glass

3.Which of the following lenses would you preferuse while reading small letters found in a
dictionary ?
a)A convex lens of focal length 50 cm b)A concave lens of focal length 50 cm

C)A concave lens of focal length 5 cm d)A convex lens of focal length 5 cm

4.Distance between the optic centre and principald of a lens is
a)Object distance b)image distancec)focal length d)radius of curvature

5.Aray of light travels from water to glass, thée ray of light
a)Bends away from normal b)Bends towardsab
c)coincides with normal d)reflects backnpetely

6.A ray of light travels from optically rarer to tigally denser medium, then the speed of light
a)increases b)decreases c)remains the same d)doubles

7.1f the power of convex lens is +2D, then its ideagth is
a)50cm b)50m c)lm d)0.5m

8.An image is obtained at a distance equal to 8githe distance of the object placed in front of a

convex lens. then which of the following is corfect
a)Height of image is one third the height of object b)Height of the image is 3 times the hefiobject
c)height of image is equal to height of object d)height of object is 3 times the heighthe image

9.When a ray of light travels from rarer to dens@dium then angle of refraction is
a)equal to angle of incidence b)less than anfglecalence
c)greater than angle of incidence d)twice thgleanf incidence

10.The magnification of the image obtained by & lismegative. This indicates that the image is
a)real and erect b)virtual and erect c)virtuad averted  d)real and inverted

11.The ratio of height of image to height of object
a)Power of a lens b)magnification c)Lateral Bispment d)focal length

12.An object of height 5cm is placed in front afanvex lens at a distance of 20cm from it. If the

focal length of the lens is 10cm, then the heidhhe image is
a)2cm b)3cm c)4cm _d)5cm

13.The magnification of the image produced by ceadans is always/
a)equal to 1 b)less than 1 c)more than 1 esd)than or equal to 1




14.The image formed, when an object is placedantfof a convex lens between the principal

focus and optic centre is
a)Real, inverted and small b)Real, ereciarged c)Virtual, erect, enlarged id)l, erect, small

15.1f a convex lens is placed in water, then itsafdength will
a)Increases b)decreases c)remains the same e zebb

16.An object is placed at a distance of 25 cm feoconvex lens. The magnification of the image is

-2. Then the image distance is
a)50cm b)—50cm €)12.5cm d)—12.5cm

17.The reciprocal of focal length gives
a)Object distance b)Magnification c)Power ofden d)Image distance /

18.The Sl unit of power of a lens is
a)newton b)joule c)watt d)dioptre

19. An object is placed at F in front of a concheres, then the height of image formed is
a) less than the height of the object mbje than the height of the object

c)equal to the height of the object d) twice hiegght of the object
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13. Sources of energy

1. A solar water heater cannot be used to get hot water on
a) A sunny day b) a cloudy day c) a hot day d) a windy day

2. Which of the following is not an example of a biomass energy source?
a) Wood b) gobar gas ) nuclear energy d) coal

3. Most of the source of energy we use represent stored solar energy which of the following is not
Ultimately derived from the sun’s energy?
a) Geothermal energy b) wind energy ) nuclear energy d) bio mass

4. Which of the following is a nonrenewable source of energy?
a) Wood b) sun c) fossil fuels d) wind

5. Which is the ultimate source of energy?
a) Water b) sun C) uranium d) fossil fuels

6. The main constituent of biogas
a) Methane b) carbon dioxide c¢) hydrogen d) hydrogen sulphide

7. Fuel used in thermal power plant is
a) Water b) uranium c) biomass d) fossil fuels

8. The power generated in a wind mill
a) Depends on the height of the tower
b) Can be increased of planting trees close to the towers
¢) Depends on wind velocity
d) Is more in rainy season?

9. Which one of the following forms of energy leads to least environmental pollution in the process
of Generating electricity
a) Nuclear energy  b) thermal energy C) solar energy d) geothermal energy

10. Identify the chief component of solar cell for energy conversion
a) Germanium b) uranium c) silicon d) carbon

11. Solar cookers are painted black for
a) Heat minimization b) heat maximization c) displace heat d) none of these

12. Which of the following are not the conventional sources of energy?
a) Fossil fuel b) biomass c) solar energy d) vegetable wastes

13. Fuel which has highest calorific value
a) Hydrogen b) methane c) LPG d) biogas

14. Ocean thermal energy is due to
a) Energy stored by waves in the ocean
b) Temperature difference at different levels in the ocean
c) Tides arises out in the ocean
d) None of the above

15. Quality of a fuel is measured by
a) Initial value b) final value ¢) combustion value d) calorific value

16. The major problem in nuclear energy is




a) Split nuclei

b) Sustain the reaction

c) Dispose of spent fuel safely

d) Convert nuclear energy into electrical energy

17. Which part of the solar cooker is responsible for greenhouse effect?
a) Coating with black color inside the box b) Mirror
c) Glass sheet d) Outer cover of the solar cooker

18. The quality of fuel is measured by
a) Calorific value b) combustion value c) initial value d) none of the above

19. Which of the following is normally used in solar cooker for trapping solar energy?
a) Solar panels b) silicon cells C) mirror d) any of the above

20. Which country is the leader in harnessing wind energy?
a) Denmark b) Germany c) India d) USA
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14. Sustainable Management of Natural Resources

. Which of these bacteria is found in the watdérhe Ganga?
. Coliform B. Vibrio C.lastidium D. Bacillus

. Which of these is a deforestation?
. Be Clothing B. Herbal C. Plast D. Cereals

. This is a basic need for all life on Earth.
. Food B. Water C. Hmgs D. Clothing

. The most important resource of energy:
. Animals B. Plants C. Water D. Coal and Petroleum

. The practice of using these pre-used matesidgeut changing their shape and texture
. Recycling B. Re-purpose . Reéfuse D. Reduse

. Rajasthan: Khadin and Nadis:: Maharashtra :
A) Lakes and dams BpBhis and ahar
C) Bandara and Hines Dhdra and Tal

7. One estimate is the period of petroleum produatlability.
A) 100 Year B) 150 Year @) Year D) 40 Year

8. Amrita Devi Bishnoi debuted with other people
A) 1731 B) 1831 C) 1931 D) 2001

9. Tehri Dam: Ganga River: Sardar Lake:
A) Tunga B) Tungabhadra ) Narmada D) Kaveri

10. From building khaddin embankments on flataierr
A] Groundwater level decreases
B] Groundwater level increases.
C) Plants in the vicinity will suffer from excessisture
D] ground water is contaminated

11. Lungs absorb oxygen in the blood and caugertiences
A) CO2 B) CO C)SO2 D)NO2

12. State where Sal forests are found
A) Andhra Pradesh B) Karnataka C) Madhya Pradesh D) West Bengal

13. Bacteria found in the human small intestine
A) Coliform B) Rhizobium C) Azotobacter D) Clastidium

14. Ancient water harvesting method of Himachadesh
A) Airy B) Ahar Y&Kulse D) Nadis




15. The forester who revived the forest of saldree
A) Patner B) Lorban C) AK Banerjee D) Chandrapal

16. World Forest Day
A) June - 5 B) September - 4 C) December - 12 D) March — 21

17. This day will be celebrated on 22 March
A) World Environment Day B) World Water Day C) World Forest Day D) World

Ozone Day

18. Forest Conservation Partners
A) Government Forest Department B) Urban tevel C) Villagers D) Town
dwellers
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